EARAROBEEIERT — 2 N— IBISH —F

20135F8A3H (+) 2m#E3H

‘ [Riz] & ‘ [REBE] — | & (%) 1800M THE

LN v >%3®t 5007T # (5%l &R

[A~&£] 17 :7,200,000  ~ 23 :2,900,000

3 &

1,800,000 H . 4 & :1,100,000 H 5 & :720,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- = s 3 | AEAEE 1:53.6 8-8-3-2 |37.4| 945 | 1 470 | LREZ (EH)
18|15/ b= F7 177 52.0 =) g | B) H=T 2R
Lid—IRAMO— B:A7HELO-X HEHA A5
- = 4 | Bt 1:53.8 1-1-1-1 | 38.0| 91.1 | 9 462 | BFHL ()
27(13| @7 INT 4 A1 RTT % 55.0 (1 1/4) () | (8 HAL-ZF-2
R:Y RKYIYRIX B:aq494 HET77— L
= = i 5 | BERTA— 1:53.9 11-11-9-7 |37.1| 91.8 | 2 452 | BBRAA (EH)
3 10 YY—F4T 5 55.0 (1/9) (+2) U L—ZKk—Z (1)
R:wNyBhT1 Bh¥au7/AHI FE S
= . = 3 | AWE— 1:54.2 4-4-6-4 | 37.7| 89.1 | 3 438 | FIEHIE—ER (%)
4|59 | 7ThINr=T 52.0 (1 3/4) (o |EBEE
LTIy 84K B:IAXT Jr=—bLTr—L
R S 4 3 | AL 1:54.6 2-2-2-2 [38.6| 842 | 7 464 | HKZ (EH)
5 2 7T T AN 52.0 (2 1/2) 8) HFF%EF
L:0ratorio B:vY¥ /&> +v5 Elie]
S 53— i 5 | EHEE 1:54.6 13-13-12-12| 37.6 | 85.5 | 4 5026 | Ef/FE5A (i)
6/5/8|/773—=F—-2% 55.0 (7€) (g) | IR
:7Q7% AN/ ZF%—% YA 785
- 33 # 5 | ALREF 1:54.7 6-6-6-7 |38.2| 83.8 | 8 480 | REB (EH)
7111 |¥V¥=>33v7 55.0 (7€) o |EEE
RLiR74 M B2 U TF— fidbabae]
= 4t 6 | WHBER 1:55.0 3-3-6-7 |38.5| 80.7 | 6 502 | FEEZ (ER)
8 7 /%27 /R 55.0 (2) -2) FEILRAT
R:TI1745—T4>7 B:ZS/HAUT Gieflipae]
= . o4 | EEET 1:55.4 8-8-9-10 |38.5| 77.4 | 5 488 | KEFRIE (i)
9 3 AHINT b 55.0 (2 1/2) ) (B) BEHS
RANRTNGZ B:FvyT 2A=KTT =L
S o MR — :55. -13-14- . . HhiER (EH)
0 sl 7ra-ne—x B4 L 1(755t;1 14-13-14-13| 38.1 | 78.4 | 11 (4_868) ﬁmﬁzﬁ
L:xF1=FGr—X B:hLTUHCTIL "HEI77—L4
=S, 4 3 | KERIR 1:55.5 14-15-14-15/ 38.1 | 77.5 | 12 484 | SHARERBL ()
1118|1477 17>~ 52.0 (172) e | BIHF
v NnNyahTr BIVARZAYY — HET77—L4
. B 5 | HEEAA 1:55.9 7-7-9-10 [39.1| 73.4 | 10 | 450 |&EF—EB ()
12[7|12| @F L 2P T 5.0 @ 172) (o) |DEET
TP BAT4 997148 BT7FRT—=7 KIF R4S
“ s 4 | BREE 1:56.0 4-4-3-4 | 39.7| 73.1 | 14 | 466 |=iEz=E (EiH)
N NEES =R 55.0 i g |MARE
AL Tr7AT7 BYVZTILAHCR FTh)T7—L
A 4 4 | RER&®B 1:56.8 11-11-13-13| 39.6 | 66.4 | 13 | 454 |H&AEL ()
14KY 5| ® b\ — 55.0 (5) () | LAt
L:yrh—r BIIAFLIUT— R NAES
= S B4 | WilsTER 1:57.0 10-10-3-4 | 40.7 | 66.2 | 15 | 468 | KRHBEIE (F&)
15gQ11| @717 1H-2X 4520 G2 il Eave =
R:EZJ/F¥LLy b B bUF2UTE- ERHS
@ 21 L
£ 50.1-37.8
NA> 24 L | 12.6-11.3-13.0-13.7-12.9-12.3-12.6-12.5-12.7
® 1—F—@EBIERL
13=3F= 13-2,7(6,9)1,12(3,15)11(5,10)8(4,14)
Pal=5F= 13,2,7(6,9)1,12(3,15)11(5,10)-(4,8) 14
== 13,2(6,11,15) (1,7,9) (3,10,12)8,5(14,4)
40—+ — 13(2,15)-(6,11,9) (1,7,10) (3,12)8(5,4)14
[ N5
B 15 160/ 714K 13-15 950M e E 7-8 1,320 =& | 10-13-15 5,220/
8 B 15 110 10-15 280M B = 13-15 2,900 3EE | 15-13-10 23,240M
13 590H 10-13 3,580 B H 15-13 4,060
10 1909

ABICOVWTRDTEEERROODE. TR LIV,




